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QUADRATIC EQUATION

Practice Exercise

1. If  then x is equals

A. 

B. 

C. 

D. 

x = √1 + √1 + √1 + ...,

1 + √5

2

2 + √5

2

−1 + √5

2

−1 − √5

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DVqm9mzH6J4s


Answer: A

Watch Video Solution

2. If  then the roots of the equation 

 where  are

A. real and distinct

B. imaginary

C. real and equal

D. infinite

Answer: A

View Text Solution

a + b + c = 0,

4ax2 + 3bx + 2c = 0, a, b, c ∈ R,

https://dl.doubtnut.com/l/_DVqm9mzH6J4s
https://dl.doubtnut.com/l/_xl5k3Dl5CPMd


3. If the roots of the quadratic equation 

are real, then the least value of a is

A. 81

B. 

C. 

D. None

Answer: B

Watch Video Solution

x2 − 4x − log3 a = 0

1

81

1

64

4. If  are the roots of 

are the roots of , then h =

A. 

α, β ax2 + bx + c = 0 and α + h, β + h

px2 + qx + r = 0

( − )
b

a

q

p

https://dl.doubtnut.com/l/_GlhqGXvBwhyQ
https://dl.doubtnut.com/l/_JgFgntnmcjn2


B. 

C. 

D. None

Answer: B

Watch Video Solution

( − )
1

2
b

a

q

p

− ( − )
1

2
a

b

p

q

5. If the equation  has

equal roots, then p =

A. zero

B. 2

C. 

D. None

(3x)2 + (27 × 31 / p − 15)x + 4 = 0

−
1

2

https://dl.doubtnut.com/l/_JgFgntnmcjn2
https://dl.doubtnut.com/l/_qTupWflsVSVX


Answer: C

Watch Video Solution

6. If the equation

have a common positive root, then the ordered pari (a,b) is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

x2 + ax + 12 = 0, x2 + bx + 15 = 9 and x2 + (a + b)x + 36 = 0

( − 6, − 7)

( − 7, − 8)

( − 6, − 8)

( − 8, − 7)

https://dl.doubtnut.com/l/_qTupWflsVSVX
https://dl.doubtnut.com/l/_Pqv5xZWcX9eQ
https://dl.doubtnut.com/l/_7O9Sj7AqLskG


7. The condition that  may two of its roots equal

to each other but of opposite sign, is

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

x3 − px − r = 0

r = pq

r = 2p3 + pq

r = p2q

8. The number of values of k for which the equation

 has two distinct roots lying in the interval 

 is

x2 − 3x + k = 0

(0, 1)

https://dl.doubtnut.com/l/_7O9Sj7AqLskG
https://dl.doubtnut.com/l/_acItdhUEU25x


A. three

B. two

C. infinite

D. no value of k will satisfy

Answer: D

Watch Video Solution

9. If  has no real root and  then

the rage of c is

A. 

B. 

C. 

D. 

x2 + 2bx − 3x = 0 < a + b,
3x

4

( − 1, 1)

(0, 1)

(0, ∞)

( − ∞, 0)

https://dl.doubtnut.com/l/_acItdhUEU25x
https://dl.doubtnut.com/l/_OrA1Dj4di24z


Answer: D

View Text Solution

10. If the roots of the equation  are equal

in magnitude but opposite in sign, then the product of the roots

is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

+ =
1

x + p

1

x + q

1

r

−2(p2 + q2)

−(p2 + q2)

−(p2 + q2)

2

−pq

https://dl.doubtnut.com/l/_OrA1Dj4di24z
https://dl.doubtnut.com/l/_tQuWqnU3woel
https://dl.doubtnut.com/l/_xgHKiHvFImxU


11. The harmonic mean of the roots of the equation


is
 
b. 
c. 
d. 

A. 2

B. 4

C. 7

D. 8

Answer: B

Watch Video Solution

(5 + √2)x2 − (4 + √5)x + 8 + 2√5 = 0 2 4 6 8

12. The roots of the equation  are

A. 

B. 

∣∣x
2 − x − 6∣∣ = x + 2

−2, 1, 4

0, 2, 4

https://dl.doubtnut.com/l/_xgHKiHvFImxU
https://dl.doubtnut.com/l/_3Gq9pesIIu1C


C. 

D. 

Answer: D

Watch Video Solution

0, 1, 4

−2, 2, 4

13. In If  and  are the roots of the

equation  then

A. 

B. 

C. 

D. 

Answer: C

ΔPQR, R = .
π

2
tan

P

2
tan

Q

2

ax2 + bx + c = 0,

a = b + c

b = c + a

c = a + b

b = c

https://dl.doubtnut.com/l/_3Gq9pesIIu1C
https://dl.doubtnut.com/l/_Zau7pmnjWmb3


Watch Video Solution

14. If the roots of the equation

 are greater than unity,

then the values of a are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(a + 1)x2 − 3ax + 4a = 0a ≠ − 1)

[ − , − 1]
16

7

[0, − 1]

[ − , 1]
16

7

[0, 1]

https://dl.doubtnut.com/l/_Zau7pmnjWmb3
https://dl.doubtnut.com/l/_s8x5xAOACyrK


15. The number of real roots of equation

 is

A. 2

B. 1

C. 0

D. 3

Answer: C

Watch Video Solution

(x − 1)2 + (x − 2)2 + (x − 3)2 = 0

16. If  (where, x is real), then the leastvalue of

y is

A. 2

y = 3x − 1 + 3− x − 1

https://dl.doubtnut.com/l/_mlOupd2lK0SY
https://dl.doubtnut.com/l/_nWExo4bBpDgV


B. 6

C. 

D. None

Answer: C

Watch Video Solution

2/3

17. If the equation  has

coincident roots, then

A. 

B. 

C. 

D. 

x2 − (2 + m)x + (m2 − 4m + 4) = 0

m = 0, m = 1

m = 0, m = 2

m = , m = 6
2

3

m = , m = 1
2

3

https://dl.doubtnut.com/l/_nWExo4bBpDgV
https://dl.doubtnut.com/l/_BlHzRHiVUFPG


Answer: C

Watch Video Solution

18. If  are the roots of  are the

roots of  then 

is equal to

A. 

B. 

C. 24

D. 44

Answer: D

Watch Video Solution

α, β x2 + x + 2 = 0 and γ, δ

x2 + 3x + 4 = 0. (α + γ)(α + δ)(β + γ)(β + δ)

−18

18

https://dl.doubtnut.com/l/_BlHzRHiVUFPG
https://dl.doubtnut.com/l/_5kQ6fJtPIHTX
https://dl.doubtnut.com/l/_h3db24w23uk4


19. If  then  lies in the interval

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 + b2 + c2 = 1 ab + bc + ca

[1, 2]

[0, ]
1

2

[ − , 1]
1

2

[0, 1]

20. If  then  is equal to

A. 2424

B. 3232

C. 2525

x2 − 5x + 1 = 0, x5 +
1

x5

https://dl.doubtnut.com/l/_h3db24w23uk4
https://dl.doubtnut.com/l/_Af54iWK4jo4V


D. None

Answer: C

Watch Video Solution

21. The range of the value of k for which the number 3 lies

between the roots of the equation

 is given by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + (1 − 2k)x + (k2 − k − 2) = 0

k < 2

2 < k < 5

2 < k < 3

k > 5

https://dl.doubtnut.com/l/_Af54iWK4jo4V
https://dl.doubtnut.com/l/_Va08bDOO9wh2


Watch Video Solution

22. if  are the roots of the equation  then 

 is

A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

α, β, γ x3 − x − 1 = 0

+ +
1 + α

1 − α

1 + β

1 − β

1 + γ

1 − γ

−1

−7

23. If one root of the equation  is even prime

while  has equal roots, then  is

x2 − λx + 12 = 0

x2 + λx + μ = 0 μ

https://dl.doubtnut.com/l/_Va08bDOO9wh2
https://dl.doubtnut.com/l/_89e3D4Z9OU5W
https://dl.doubtnut.com/l/_mS6IK8qJuUth


A. 8

B. 16

C. 24

D. 32

Answer: B

Watch Video Solution

24. If  are the roots of the equation 

then  is equal to

A. 0

B. positive

C. negative

D. None

α and β ax2 + bx + c = 0,

(1 + α + α2)(1 + β + β2)

https://dl.doubtnut.com/l/_mS6IK8qJuUth
https://dl.doubtnut.com/l/_mZClXnawe3OR


Answer: B

View Text Solution

25. The number of real solutions of the equation

 is-

A. 2

B. 4

C. 6

D. None

Answer: B

Watch Video Solution

(5 + 2√6)
x2 − 3 + (5 − 2√6)

x2 − 3

= 10

https://dl.doubtnut.com/l/_mZClXnawe3OR
https://dl.doubtnut.com/l/_tAC2d4ouJztF


26. If , then the equation , has

A. both roots in [a,b]

B. both roots in 

C. one root in  and other in 

D. one root in 

Answer: D

Watch Video Solution

b > a (x − a)(x − b) − 1 = 0

( − ∞, a)

(b, ∞) (b, − ∞)

( − ∞, a)

27. If  are the roots of the equation 

, where , then

A. 

B. 

α and β(α < β)

x2 + bx + c = 0 c < 0 < b

0 < α < β

α < 0 < β < |α|

https://dl.doubtnut.com/l/_sS5x0H5hTlqt
https://dl.doubtnut.com/l/_rDGDdd54b0kO


C. 

D. 

Answer: B

Watch Video Solution

α < β < 0

α < 0 < |α| < β

28. If the roots of the equation  are in

ratio a:b then the value of  is equal to

A. 0

B. 1

C. 3

D. None

Answer: A

lx2 + mx + ∣ m = 0

√ + √ + √
a

b

b

a

m

l

https://dl.doubtnut.com/l/_rDGDdd54b0kO
https://dl.doubtnut.com/l/_8FxfLn21vDpf


View Text Solution

29. For the equation 
 if one of the

root is square of the other, then 
is equal to
 
b. 
c. 
d. 

A. 

B. 1

C. 3

D. 

Answer: C

Watch Video Solution

3x2 + px + 3 = 0, p > 0,

p 1/3 1 3 2/3

1

2

2

3

30. Q. If , where  is

satisfied for at least one real x, then the maximum value of

x2 + 5 = 2x − 4 cos(a + b) a, b ∈ (0, 5)

https://dl.doubtnut.com/l/_8FxfLn21vDpf
https://dl.doubtnut.com/l/_mcft8e3qDFDG
https://dl.doubtnut.com/l/_3AF15MAWtjCI


 is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

a + b ∈ [0, 2π]

3π

2π

π

31. If a,b,c  has no real roots, then

A. 

B. 

C. 

∈ R and ax2 + bx + c = 0

a(a + b + c) > 0

c − c(a − b − c) > 0

c + c(a − b − c) > 0

https://dl.doubtnut.com/l/_3AF15MAWtjCI
https://dl.doubtnut.com/l/_HVBH0cxY8Gls


D. 

Answer: A

Watch Video Solution

c(a − b − c) > 0

32. The value of p for which the difference between the roots of

the equation  is 2, are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + px + 8 = 0

±3

±6

±2

±1

https://dl.doubtnut.com/l/_HVBH0cxY8Gls
https://dl.doubtnut.com/l/_XVdpnA7ecKvZ


33. If  are the roots of the equation 

then the quadratic equation whose roots are

is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

α and β ax2 + bx + c = 0,

and ,
α

1 + α

β

1 + β

ax2 − b(1 − x) + c(1 − x)2 = 0

ax2 − b(x − 1) + c(x − 1)2 = 0

ax2 + b(1 − x) + c(1 − x)2 = 0

ax2 + b(x + 1) + c(1 + x)2 = 0

34. If  and quadratic equation

 has non-real roots, then-

a + b + c >
9c

4

ax2 + 2bx − 5c = 0

https://dl.doubtnut.com/l/_UZ6i4j2pDlkw
https://dl.doubtnut.com/l/_3J5F51O8jJOJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a > 0, c > 0

a > 0, c < 0

a < 0, c < 0

a < 0, c > 0

35. For real values of x, the expression  will

assume all real values provided

A. 

B. 

C. 

D. 

(x − b)(x − c)

(x − a)

a ≤ c ≤ b

a ≥ a ≥ c

b ≤ c ≤ a

a ≥ b ≥ c

https://dl.doubtnut.com/l/_3J5F51O8jJOJ
https://dl.doubtnut.com/l/_jSJI4Vk29eRj


Bitset Archives

Answer: B

View Text Solution

1. If  and  are the roots of the equation  then

the value of 

is

A. 

B. 

C. 

D. None of these

Answer: A

α β x2 − px + q = 0

(α + β)x − ( )x2 + ( )x3 + ...
α2 + β2

2

α3 + β3

3

log(1 − px + qx2)

log(1 + px − qx2)

log(1 + px + qx2)

https://dl.doubtnut.com/l/_jSJI4Vk29eRj
https://dl.doubtnut.com/l/_LhMR9uoUBCLD


Watch Video Solution

2. 3 The set of all real x satisfying the inequality 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

≥ 0
3 − |x|

4 − |x|

[ − 3, 3] ∪ ( − ∞, − 4) ∪ (4, ∞)

( − ∞, − 4) ∪ (4, ∞)

( − ∞, − 3) ∪ (4, ∞)

( − ∞, − 3) ∪ (3, ∞)

3. If N is any four digit number say  then the

maximum of  is equal to

x1, x2, x2, x4

N

x1 + x2 + x3 + x4

https://dl.doubtnut.com/l/_LhMR9uoUBCLD
https://dl.doubtnut.com/l/_P0DQEaatdAeB
https://dl.doubtnut.com/l/_cNvY2p4zLI3C


A. 1000

B. 

C. 800

D. None

Answer: D

View Text Solution

1111

4

4. If 4 - 5i is a root of the quadratic equation 

then ( a, b) is equal

A. 

B. 

C. 

D. 

x2 + ax + b = 0

(8, 41)

( − 8, 41)

(41, 8)

( − 41, 8)

https://dl.doubtnut.com/l/_cNvY2p4zLI3C
https://dl.doubtnut.com/l/_07gEYAkQuzRA


Answer: B

Watch Video Solution

5. If  are the roots of the quadratic equation 

 then the value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α and β

4x2 + 3x + 7 = 0 +
1

α

1

β

−
3

4

−
3

7

3

7

4
7

https://dl.doubtnut.com/l/_07gEYAkQuzRA
https://dl.doubtnut.com/l/_3Rw3u4CukyyE


6. If  are the roots of 

are the roots of  then  is equal to

A. 

B. 1

C. 

D. 0

Answer: C

View Text Solution

α, β ax2 + bx + c = 0 and α + k, β + k

px2 + qx + r = 0,
b2 − 4ac

q2 − 4pr

a

p

( )
2

a

p

7. If  are the roots of the equation 

then the value of  will be

A. 

α and β x2 − 2x + 4 = 0,

αn + βn

i2 sinn + 1 sin(nπ /3)

https://dl.doubtnut.com/l/_DWLg1erUVoE4
https://dl.doubtnut.com/l/_bOUTut1U0gdV


B. 

C. 

D. 

Answer: B

View Text Solution

2n + 1 cos(nπ /3)

i2n − 1 sin(nπ /3)

2n − 1 cos(nπ /3)

8. If the roots of the equation  are real and

distinct, then

A. both roots are greater than 

B. both roots are greater than

C. one of the roots exceeds − 

D. None of the above

ax2 + bx + c = 0

−
b

2a

−
b

2a

b

2a

https://dl.doubtnut.com/l/_bOUTut1U0gdV
https://dl.doubtnut.com/l/_nRqSKAbQUonB


Answer: C

Watch Video Solution

9. The number of jsolutions of the equation  is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

z2 + z̄ = 0,

10. If the sum of the roots of the equation  isz2z̄ = 0

https://dl.doubtnut.com/l/_nRqSKAbQUonB
https://dl.doubtnut.com/l/_LgZ7xVcsUWfN
https://dl.doubtnut.com/l/_2wTQgfLUGoiP


A. 

B. 

C. 4

D. 

Answer: D

View Text Solution

−2/3

−3

−1/2

11. If  and  then the quadratic

equation whose roots are  is.

A. 

B. 

C. 

D. 

α + β = − 2 α3 + β3 = − 56

α, β

x2 + 2x − 16 = 0

x2 + 2x + 15 = 0

x2 + 2x − 12 = 0

x2 + 2x − 8 = 0

https://dl.doubtnut.com/l/_2wTQgfLUGoiP
https://dl.doubtnut.com/l/_RrqyewlXHulq


Answer: D

Watch Video Solution

12. The cubic equation whose roots are thrice to each of the

roots of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x3 + 2x2 − 4x + 1 = 0

x3 − 6x2 + 36x + 27 = 0

x3 + 6x2 + 36x + 27 = 0

x3 − 6x2 − 36x + 27 = 0

x3 + 6x2 − 36x + 27 = 0

https://dl.doubtnut.com/l/_RrqyewlXHulq
https://dl.doubtnut.com/l/_PNBP5LwRL0af


13. The number of solutionsof the equation 

 in  is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

1 + sin x sin2 = 0
x

2
[ − π, π]

14. If one root of the quadratic equation  is

equal to nth power of the other root, then the value of

 is equal to

ax2 + bx + c = 0

(acn) + (anc)
1

n + 1
1

n + 1

https://dl.doubtnut.com/l/_dAVyP8NpYi5q
https://dl.doubtnut.com/l/_Bq83wjmmNbRS


A. a

B. 

C. 

D. 

Answer: B

View Text Solution

−b

1

bn + 1

−bn + 1

15. If  are the roots of the equation 

 then  is equal to

A. 

B. 

C. 

D. 

α, β, γ

2x3 − 3x2 + 6x + 1 = 0, α2 + β2 + γ2

−
15

4

15

4

9

4

4

https://dl.doubtnut.com/l/_Bq83wjmmNbRS
https://dl.doubtnut.com/l/_EfFBFNfRvGCC


Answer: A

Watch Video Solution

16. If  and  are in  then roots of 

 are always

A. real

B. imaginary

C. greater than 1

D. equal

Answer: A

Watch Video Solution

sin α, sin β cos α GP ,

x2 + 2x cot β + 1 = 0

https://dl.doubtnut.com/l/_EfFBFNfRvGCC
https://dl.doubtnut.com/l/_X31joIrSsXNU

